AR EASTA AR (s : A 9)
e Al F- Aol el == NESTE 12573 o} 20164 714 | 20164 HF
A A} (B) o 2k (A) 4k (A+B)

317 35,878,508 70,884,070 106,762,578
35,878,508 70,884,070 106,762,578
X2Z=9S 35,863,573 70,170,069 106,033,642
AL SL 52,320 109,317 161,637
LS ) 47,320 12,901 60,221
TAAFA Y 47,320 12,901 60,221
1. ZdA-E&AF 47,320 0 47,320
7h FAA SR E AT 3,120 3,120
1) 28964 620-03 130,000 X179 = 2,210 2,210
2) AHEAAR 620-10 |130,0009 x 79 = 910 910
U S8t g ERolxp g ol 29,120 29,120
1) 28 xS8a 620-03 |130,0009 x 2247 = 29,120 29,120
t} e g ESRoalg oS 15,080 15,080
1) 7958ty 620—03 |130,000¢ X 90 = 11,700 11,700
2) A st 620—10 130,000€ x 269 = 3,380 3,380
QAT 2,200 60,750 62,950
&3 AMA| &% 2,200 47,800 50,000
1. AdwA 3251 g 1,600 35,200 36,800
7}, ok Ak 1,600 1,600
1) 2Yx58w 620—03 |20,0009 x 17 x 83| x10¥ = 1,600 1,600
2. Ao 53 A g A Y 600 10,200 10,800
7}, AEwAF 600 600
1) ¥Hx5w 620-03 50,0009 x 18 x12¢= 600 600
B A 74 1AL 2 2,800 1,780 4,580
B A 7+ A QAL A7 2,800 1,780 4,580
1. X SAFF A A3 24 2,800 0 2,800
7F N85 210-06 |80,0009 x 57 x 23] = 800 800
b A 210—06 70,0009 x 4§ x 53] = 1,400 1,400
o} 7+3 230-02 |25,0009 x 8 x 33]= 600 600
Z8=Ex9 671,353 3,563,835 4,235,188
5 NLL-S 3,400 59,770 63,170
o)A W8 3,400 30,880 34,280
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718 AR TR SA DA (9] - A Q)
Bopnzm e =+ A - Aol el == NESTE 12573 o} 20164 714 | 20164 HF
A A A o - B (B) oA AF(A) A4k (A+B)
1. [BEu]ZgAAdLEFAA 3,400 0 3,400
7h A A s A A A 3,400 3,400
1) A [LHbAr2] 210-06 |100,0009 x 129 = 1,200 1,200
2) ol4n 210-01 15,0009 x100%= 500 500
3) 9w 210-01 |14,000¢ x50 = 700 700
4) A}Eoln) 210-01 10,000€ x10071= 1,000 1,000
=R 45,816 336,284 382,100
ATIAAA A 25,000 48,900 73,900
1. ZAFEMNAATFATA A 25,000 48,900 73,900
7t WS Aot 25,000 25,000 50,000
1) Eolale-dnx 20,000 20,000 40,000
7hH FYEx5sw 620-03 |1,000,000¢ x 2931 = 12,000 17,000 29,000
W ¥HTEw 620-03 |1,000,0009 X 51= 5,000 5,000
™ At Ega 620—10 | 1,000,000¢ X 631= 3,000 3,000 6,000
2) AAMY 210-06 50,0009 x 16 = 400 400 800
3) SFZol Al A 310-03 |500,0009 x12¢ = 3,000 3,000 6,000
4) AFE-EN) 210-01 |100,0009 X 16%= 800 800 1,600
5) 7Feh3) 230-02 20,0009 X 209 x 43]= 800 800 1,600
2= OS] 20,816 287,384 308,200
1. [En] 7 &= 3A 4D 20,816 0 20,816
7h 712 AT A" Y 14,066 14,066
1) A [ RPEAH 1,130 1,130
7hH 71& 210-06 [160,0009 x 17 x 23] = 320 320
) x3 210-06 |90,0009 X 17 X 9A]Zk= 810 810
2) 9% 210-01 |14,0009 x12w] x 28] = 336 336
3) olzn] 210-01 |10,0009 X 2003 x 28] = 4,000 4,000
4) 211) 210—04 7,000¢ X 2007 x 24 = 2,800 2,800
5) 7+ 210-04 |2,000¢ x 200 x 23] = 800 800
6) 7+eks) 230—02 25,0009 X207 x 23] = 1,000 1,000
7) SAFE-En) 210-01 |20,0009 X 100% x 28] = 4,000 4,000
. st S Al 6,750 6,750
1) AXE S 210-06 50,0009 X 159 x 93] = 6,750 6,750
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7138 AR EAN RS A (cFe] : 19
< A A (B) o AH(A) o4k (A+B)
folu &A% 5,760 1,115,520 1,121,280
R4 HF 42 24,000 649,640 645,640
1. X9 UdA LS £A4,000 568,040 564,040
7h dH AR s 4,000 36,800 32,800
1) =% H] 620-03 |32,800€ X202 X 109 x57) 4= A 4,000 36,800 32,800
A A LA ¥ 9,760 323,100 332,860
1. AR X AT LA 9,760 323,100 332,860
7h AR Ak EE A 9,760 174,800 184,560
1) £99n) 620—10 (38,4509 X202 x 10€ x 24 7] 9= 9,760 174,800 184,560
EFuSAET 61,250 106,657 167,907
EFnSus SR 61,250 84,257 145,507
1. [BEr]ETnSAMNA 61,250 0 61,250
7h Aol st FH A A A A 10,000 10,000
D A9 du S Fastas 5,444 5,444
7hH L3 210-06 |70,0009 x10% x33]= 2,100 2,100
) ZAEE G [ NEAT ] 860 860
(1) 71 210-06 |160,0009 %28 = 320 320
(2) =7} 210-06 90,0009 X 2% x 3| 2t= 540 540
o s 210-04 |14,0009 x 6v)= 84 84
o}) SYARE-EH] 210-01 |10,0009 X 60%= 600 600
vl 7H21H] 210-04 [2,0009 X100 x 43]= 800 800
up) £-o3n] 210-01 20,0009 x50 = 1,000 1,000
2) 5T gAdEAZE IS 4,556 4,556
7 SAFL-EN) 210-01 10,0009 x77%&= 770 770
h A=) 210-11 |20,0009 x50 = 1,000 1,000
th) L3n] 210-01 20,0009 x50 = 1,000 1,000
2}) A [ aEAE3] 210-06 |80,0009 x 207 = 1,600 1,600
up) 7+-2n] 210-04 |2,0009 x93 = 186 186
v A9 SHAETF DS 473t 23,250 23,250
D F| dAASF RS UEA N AL 2 T2 2,500 2,500
7 2 A E 210-07 |600,0009 x 2= 1,200 1,200
) BALE-EN] 210—-01 |10,000¢ x30%= 300 300
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BEAdRSA A GO

=4 A5 Apeluj el B s 1257 4 20164 714 | 20164 HF
A A B T - (B) S AH(A) A (A+B)
th 2H] 210-01 |7,0009 %80 = 560 560
2}) 7FalH) 210-04 12,0009 %1009 = 200 200
v} 73 230-02 10,0009 x 24 = 240 240
2) 7ol st AR w1 ks 7 7y 29 1,000 1,000
7h AR [ RAR2] 800 800
(1) 7= 210-06 100,000 x5% = 500 500
(2) =7} 210—06 [60,0009 x5 X 1A]3k= 300 300
) elzn 210-01 10,0009 X 20%= 200 200
3) NABAGANEAIGET LA DANE S 13,000 13,000
7 wgstsAtE T 210-01 [10,000¢ x607)= 600 600
) QA AER] QA =) 210-01 |100,0009 x 40F= 4,000 4,000
th AErtEed A AdnNgu B aias 210-06 |160,0009 X 103] X 27| 4= 3,200 3,200
2h) ANF NG 7IEA D (G RAF) 210-06 |160,0009 X 53] x 27] 2= 1,600 1,600
") B8] 7] (JAR A YS) Y| 210-01 | 800,000¢ X 4t)= 3,200 3,200
vh) 73 230-02 [20,0009 x 20 = 400 400
4) ol g g ehA o) Al ¥ 6,250 6,250
7 BREFsH7) 77 430-01 [6,250,00091 x 1t)= 6,250 6,250
5) FsldTA g 500 500
7h AR (D RPEARS] 210-06 |50,0009 x 1% x 101 7}= 500 500
tF Aol AR S 28,000 28,000
D AARYEH S-S 2,000 2,000
A E R EA S Rt A 210-06 |70,0009 x 47 x 23] = 560 560
1} ALE-En] 210-01 [10,0009¥ X 20%= 200 200
o} oH] 220-01 (20,0009 x29x11¥= 440 440
2h) 7+eh3) 230-02 20,0009 x10%3 x 43]= 800 800
2) Zog AL AT 14,060 14,060
71 ZdAbr R [ REEAR2] 8,000 8,000
(1) 71& 210-06 100,000 x5% x1038]= 5,000 5,000
(2) =7} 210-06 [60,000€¥ X598 x 104 2t= 3,000 3,000
W) das 210-04 |14,0009 X 31} X 153]= 630 630
o) Qlzn] 210-01 |5,0009 x50% x 33]= 750 750
2}) ZFalH) 210-04 |2,0009 x100% x 78] = 1,400 1,400
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719 AR ER NS XA (Sl @ H9)
wolng 84 | @A [ AF el o= Bl 5749 | 20164 714 | 2016 A&
RS Abel A} N o v - (B) of| A+ (A) | AH(A+B)

uh) SJAFL-3EN) 210—01 10,0009 x 288% = 2,880 2,880

Hp) -3 230-02 |20,00041 x10%4 x 28] = 400 400

3) VAT AR 3] 1,500 1,500

7h SAFE-EH] 210-01 |10,000€ x30%= 300 300

W) AA 210-06 |50,0009 x 4™ = 200 200

) AT 310-03 |50,000€1 X 10 = 500 500

2h) 7+21n) 210-04 12,0009 x100% = 200 200

up) 7423 230—01 30,0008 x10% = 300 300

4) A A=Y 5,700 5,700

7hH A2 X 2 A 71 210-01 [10,000¢ X 20%= 200 200

[BREAREIPAR=Sa )] 210—06 50,0009 x4 x 183] = 3,600 3,600

o) 7IEAE R Y 210-06 |50,0009 x 27} x163] = 1,600 1,600

2 7+eh3) 230—02 30,0009 X109 = 300 300

5) TR SAEH AP AEF W F (AR Z) 4,740 4,740

7hH Aol xts 210—07 | 600,000€ x 2t)= 1,200 1,200

) SJAFE-EN) 210-01 10,000€ X 78%F= 780 780

th 2H] 210-01 |7,000€ x80% x 34] = 1,680 1,680

Zh) 7F2n) 210-04 2,000€ X80 x 33]= 480 480

u}) 7hek3 230—02 10,0009 x30% x 23] = 600 600

LIES RT3 192,855 250,000 442,855

FInSEEX Y 192,855 250,000 442,855

1. JolARAZLYF 192,855 0 192,855

7}, L {2 A 1) 320—02 (299,544 9 %4199 = 125,509 125,509

U, ALrE=SHA 9 e 1] 320-02 [446,0009x151%= 67,346 67,346

BB L 5,138 80,419 85,557

R i B N RPN B 5,138 59,744 64,882

1. 9ty w A B Z Yl AN 5,138 26,629 31,767

7} HA A+ 320—04 20,550,5009 X1 X 1/12¢8 x4 d= 5,138 1,713 6,851

A S-S a3 285,923 943,038 1,228,961

St A S AR Y 2,800 10,200 13,000

1. 7S A YA = 2,800 10,200 13,000

7}, o 4] 220—01 20,0009 x59 x130%4= 2,800 10,200 13,000
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718 AR TR SA DA GEREE)
Hopr 3 3 =+ A - ApeI e == NESTE 1257 4 2016 717 | 2016 #HF
A A A (B) o AH(A) JAH(A+B)

St A SA A AMNA 283,123 627,660 910,783

1. S uF4Z2A 283,123 0 283,123

I o e R e R 283,123 283,123

1) A x5 w 620-03 |69,679,0009 x 1 1= 69,679 69,679

2) 2355w 420-03 [72,6009 x2,940m' = 213,444 213,444

PN G 78,237 192,018 183,781

St EE oA £8,237 161,678 153,441

1. stpEH g 18,237 100,078 91,841

7} 2T S e v [U- <t M u 2] X ¢ ~8,237 96,760 88,523

1) U-QFAAn] 2ol 85 210-01 8,8009 %293 x12¢= A8,237 39,178 30,941

YA =] 9 28,948 327,905 356,853

SAdGE T4 28,948 327,905 356,853

1. AT A2 TFSFAY 21,448 317,105 338,553

7t WeeAl A %24 17,948 190,033 207,981

1) AEdEA 291 16,148 143,042 159,190

7H 715 110-03 [2,010,20091 x5 x12¥= 3,552 117,060 120,612

) ozt 110-03 |67,0009 x5% x 2= 40 630 670

o)) ZIprgg) 110-03 [20,000€] X 3904 7+= 2,040 5,760 7,800

) WA &7 110—03 |300,000¢ x5 x 23] = 500 2,500 3,000

v} FRlZ R 320—05 2,150,00091x5% x 129 x4 .5%= 216 5,589 5,805

vh) ARG 320-05 2,150,0009 x5 x12€¥ X 3.06%= 147 3,801 3,948

AP A A B E 5 320-05 [2,150,0009 x5% X 129 X0.9%= 43 1,118 1,161

oh)) 18RI 320-05 |2,150,0009 x5 X129 X 1.5%= 72 1,863 1,935

) w7 QR ARG 320-05 |2,150,0009 X5% x 129 X3.06% X 6.55%= 10 249 259

AR RARS == 320-05 2,800,000 X 5% = 9,528 4,472 14,000

2) A3 WA e A 1,800 1,800

7H wd A 240—-04 |75,0009 X2 x12¢9= 1,800 1,800

v wdd e F s eA 3,500 3,500

D rouAAsF= Y 3,500 3,500

7h e1zn 210—01 4,0009 X504 x 23] = 400 400

) &puk 210-01 100,0009 x 171= 100 100

o s 210-01 |14,0009 x 201 = 280 280
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(9] - )

Al - JARSITS ERpESS . A=A | 2016 718 | 2016 HF
At (B) o AF(A) | 2H(A+B)

eh) AT (LA ] 2,720 2,720

1) 7] 210-06 |160,0009¢1 % 2% x 48] = 1,280 1,280

(2) =3 210-06 [90,0009 x4 x43]= 1,440 1,440

2. S LAY 7,500 1,800 9,300

7h s 7,500 7.500

1) sl sl gArd A 7,500 7,500

7 AFE8-3E) 210-01 |50,0009 x 8% = 400 400

) &2=uk 210-01 |100,0009 x 37)= 300 300

th SWAFLEH] 210-01 |20,0009 x 10% x 20| = 4,000 4,000

2h) 7-211) 210-04 |2,0009 X 100% x 53] = 1,000 1,000

b AAREE 210-06 |50,0009 x4 = 200 200

uh) 7ha3] 230-02 |20,0009 x 80 = 1,600 1,600

s 50,500 0 50,500

AZAS TS 50,500 0 50,500

1. [Ex]255022544 50,500 0 50,500

7} A A A A = 50,500 50,500

D) RZA A AE - 50,500 50,500

71 AE] 9 EF$-odH) 210-13 |45,000,0009 x 1% = 45,000 45,000

) SAFE-EH] 210-01 |10,0009 x50% x 28] = 1,000 1,000

th 7-A1H] 210-04 |2,0009 %307 x 48] = 240 240

zp) 24 210-04 |7,0009 x 307 x 42] = 840 840

1l AR [ REARS] 210-06 (80,0009l x 27 x 23] = 320 320

v A E S 210-06 |50,00091 x 874 = 400 400

AP o3H] 220-01 |20,0009 x 307 x 22 = 1,200 1,200

o}) 7++3] 230-02 |30,0009 x 107 x 53] = 1,500 1,500

ASER A Y 12,200 3,015,457 3,027,657

U R S 12,800 1,809,000 1,796,200

IRk S R £12,800 1,809,000 1,796,200

1. Ao 275ty o9 12,800 568,000 555,200

A ER - 620-03 |1,600,0009 x 24285 = A12,800 400,000 387,200

IS ANA 25,000 1,131,400 1,156,400

FojEduaSBSA Y 25,000 1,131,400 1,156,400

7/13




719 AR ER NS XA (Sl @ H9)
Hopnm R 9 Al - ApeI e B s 1257 | 2016 7174 | 20164 HF
Abel A} A (B) o 2k (A) o AH(A+B)
1. 272 FAAMNA 25,000 1,129,500 1,154,500
7). Z8ha}eke-ol ) 24,000 402,000 426,000
1) AF2 82 QB sk apekeody 24,000 402,000 426,000
7h dokrE50mg H 620—10 |6,000,000¢] x57) €= ~24,000 54,000 30,000
) fol50 o] 620-10 |12,000,000€ x 3371 = 48,000 348,000 396,000
. E8ha}s2-9d v 1,000 727,500 728,500
1) 2 AETA}FL A0 1,000 727,500 728,500
7h &lxn) 620-03 |722,000,0009 = 1,000 721,000 722,000
HA/FA/A&ES 21,401 626,696 625,295
RAAE 1,399 37,020 38,419
SR AR 1,399 10,100 11,499
1. SR AR 1,399 10,100 11,499
A Rk Bl i ke Ko 1,399 1,399
D A 210-06 |50,0009 x 5% = 250 250
2) AFZ 2| 210-01 |10,000¢ x 387}= 380 380
3) ;AFLZ ) 210-01 |55,0009 x 15%= 55 55
4) 7FA1n] 210-04 |2,0009x107%= 214 214
5) 7F3] 230-02 |25,0009 x 20 = 500 500
ZAEA S 3 8% 22,800 206,060 203,260
A& 3 A4 22,800 206,060 203,260
1. ZEAS03e9 22,800 94,510 91,710
7}, o1& WA v A Y A2,800 9,000 6,200
1) 395w 620-03 |0€9= 22,800 2,800
s o AR A LA A189,857 38,250,786 38,060,929
TR RE P 117,004 18,993,545 19,110,549
IRV R B 117,004 18,993,545 19,110,549
1. 7| B89N ~32,996 18,705,358 18,672,362
7} 71 83| 732,996 18,705,358 18,672,362
1) ¢x49 620-02 |776,167,0009 = A689 776,856 776,167
2) 258w 620-02 |13,691,222,0009 = AT78,394 13,769,616 13,691,222
3) Z&w 620—02 |4,204,973,000¢= 46,087 4,158,886 4,204,973
2. 71k H) 2 Y 150,000 288,187 438,187
P& - FolRxT5us - SugdAgRe] - FuLIu A - Fuegn A 8/13




(9] - )

Hopnm R =+ A AFduy el B P 1257 4 20164 714 | 20164 HF
A A A (B) oA AF(A) A4k (A+B)

7h w A ER SR Y 150,000 30,027 180,027

1) ¥Hx5w 620—03 [10,000,0009 X121 = 120,000 120,000

2) 358w 620-03 |10,000,0009 X 3= 30,000 30,000

AFEHA A =] Y £306,861 19,257,241 18,950,380

AN AR AT Y A179,347 16,724,612 16,545,265

1A SR AAN A A TR Z A179,347 16,724,612 16,545,265

7} A EF8E 620-08 |16,545,265,0009 = A179,347 16,724,612 16,545,265

LA AEA A A127,514 2,532,629 2,405,115

1. ARSI AR AT Z A127,514 2,632,629 2,405,115

b AP ZE 620—09 |2,405,115,0009= A127,514 2,532,629 2,405,115

g WSl AN A AL 35,318,958 24,603,978 59,922,936

A X A A 32,799,994 16,164,484 48,964,478

Az A 32,799,994 16,164,484 48,964,478

1. IANZ 11,489,724 15,497,221 26,986,945

7} Aot xSEtw (A1 g A o] A) 11,489,724 11,489,724

1) AAMn 1,083,689 1,083,689

7H AZ=A AN 420-02 17,955,830,0009 X 4%= 718,234 718,234

W) A7) A8 420-02 |3,960,845,000¢ X 4.41%= 174,674 174,674

th 71AAd Am) 420-02 | 4,488,958,0009 X 4.25%= 190,781 190,781

2) AAINAAE THE 420-04 |50,000,0009 x 14} = 50,000 50,000

3) AlAdn] 9,996,351 9,996,351

7hH AZ=ZAM) 420-03 |80,444,0009 X 84,52 = 6,797,518 6,797,518

h A7) ZAM) 420-03 120,111,0009 x 84.5%1 = 1,699,380 1,699,380

th 7)1 A n] ZAM) 420-03 |17,745,0009 x 84,5 = 1,499,453 1,499,453

4) 7rgin] 356,334 356,334

7H 7AZ=7ran) 420-04 |17,955,830,0009 ¥ 1.24%= 222,653 222,653

) A7) 72 m) 420—04 |4,488,958,00091x1.13%= 50,726 50,726

) 71AZEn) 420-04 |3,960,845,0009 X 1.24%= 49,115 49,115

2} 2wk 420-04 2,820,0009 x 12714 = 33,840 33,840

5) Al H-on) 420-05 3,350,0009 % 12]= 3,350 3,350

2. A48y B Q] 21,290,000 0 21,290,000

7F A xS st u (Al g Aol ) 21,290,000 21,290,000

B - fObEFEWS — SmasolANA — SN — sl

pS)
=

ol
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(9] : 2 9)

Apelyel g Y. 13374 | 20164 714 | 2016d HFE

B) o AH(A) o4k (A+B)
1) F-=ujjgln) 410-01 |1,373,548¢1x15,500m = 21,290,000 21,290,000
3. AA S gAZ A1) 20,270 622,413 642,683
7k ) At 25 st A ] 2 20,270 89,053 109,323
1) AAFXLNL 78] (3eEF70Y) | 620-03 |109,323,0009 x 17191 = 20,270 89,053 109,323
604,300 1,958,604 2,562,904
%7]1% 604,300 1,958,604 2,562,904
1. AFgFAg A 121,300 1,255,573 1,376,873
7b ey 121,300 1,255,573 1,376,873
D) AEASI1sTw 121,300 121,300
7P es=n ey w4 420-03 |50,000,0009 x 2t = 100,000 100,000
) g A 420-03 |213,000€9 X 100m= 21,300 21,300
2. ASHRF 483,000 0 483,000
7} 3w 483,000 483,000
1) AEAS S8y 483,000 483,000
7H ATk A 420-03 284,0009 X 1,500m'= 426,000 426,000
W) AN A7) Z2HAA 420-03 [950,000¢ x607= 57,000 57,000
1,914,664 6,480,890 8,395,554
&S AMA 1,914,664 6,480,890 8,395,554
1. 71ebstn @3 A A A1 A2 4,896 206,240 211,136
7}, et 4,896 186,290 191,186
1) Atz w 4,896 4,896
7hH 2 EAXA 420-03 4,896,000 x 12]= 4,896 4,896
2. AP 13,910 730,917 744,827
7} 3w 13,910 730,917 744,827
1) A x58w 420-03 107,000 X 130m'= 13,910 13,910
3. A7 AN 36,270 919,530 955,800
7F sty 36,270 919,530 955,800
1) AHxFsw 36,270 36,270
7P A7\ LA 420-03 279,000¢ X 130m= 36,270 36,270
4, FFEAEAA 32,800 201,900 234,700
7F sty 32,800 201,900 234,700
1) thexsga 32,800 32,800

A - ZEBAANAAAE - S A w8 A 10/13




4% COREE)

A Aol el B P 1235374 | 20169 7178 | 20163 H=
A (B) o AH(A) JAH(A+B)

7V Tl A 420-03 [164,0009 X 200m= 32,800 32,800

5. WA A AA 505,083 607,548 1,112,631

7 & 505,083 607,548 1,112,631

1) Y9x5 w 171,452 171,452

70 WAl 129,602 129,602

(1) 71A+5-A}8] 420-03 14,358,000 x 224 = 95,876 95,876

(2) A7) EAH] 420-03 [1,533,0009 X224 = 33,726 33,726

W) A7 g5 41,850 41,850

(1) SSAA 420-03 |279,0009 X 150m= 41,850 41,850

2) Y9x5 120,601 120,601

7h WAl 64,801 64,801

(1) 7] Al ZAM] 420-03 |4,358,0009x1124= 47,938 47,938

(2) A7) FA ] 420-03 [1,533,0009 %114 = 16,863 16,863

W) A7 55,800 55,800

(1) 214 420-03 |279,0009 X 200m= 55,800 55,800

3) AAtsskw 213,030 213,030

7h WAl 176,730 176,730

(1) 7] Al ZAM] 420-03 4,358,000 x 304 = 130,740 130,740

(2) A7)1FA ] 420-03 |1,533,0009 X304 = 45,990 45,990

W) A7 g5 36,300 36,300

(1) 2 rA 420-03 |1,210,000¢1 x 304 = 36,300 36,300

6. FFEX 52,950 47,655 100,605

7F sty 52,950 47,655 100,605

1) #Hassgw 420-03 353,0009 X50m= 17,650 17,650

2) A1 sk W 420-03 353,000€ X 100m= 35,300 35,300

7. WiFEA A 91,123 104,894 196,017

7 &gy 91,123 104,894 196,017

1) st xEslw 420-03 |293,0009 x161m= 47,173 47,173

2) 74ArA1 sk w 420-03 |293,000€) X 150m= 43,950 43,950

8. A x| 112,939 22,190 135,129

7F sty 112,939 22,190 135,129

1) gAdxSstu 73,314 73,314

m
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4% GEEEE)

o A SREpE -8 PERS 137 | 2016 717 | 2016 ¥

A (B) o AH(A) JAH(A+B)
7hH vl x| 420-03 |317,0009 X 202m'= 64,034 64,034
W) =3 u A 420-03 [160,0009 X58m'= 9,280 9,280
2) 9315w 420-03 317,0009 X 125m'= 39,625 39,625
9. +HFEAH 103,200 0 103,200
7F sty 103,200 103,200
1) $Aatxsgw 420-03 |850,0009 X 69m= 58,650 58,650
2) ZAAkA el s w 420-03 |850,0009 X52m= 44,550 44,550
10. ZEANA 342,920 342,920 685,840
7F sty 342,920 342,920 685,840
1) §49x%x58w 420-03 |17,146,0009 X 202 = 342,920 342,920
11. ZFAA 83,360 0 83,360
7F sty 83,360 83,360
1) AAiksskw 83,360 83,360
7hH A A 420-03 1,990,000 x 32%= 63,680 63,680
) AR B A 420-03 (820,000 x 24 %= 19,680 19,680
12. ¥ZFA}F 78,416 0 78,416
7b sHEw 78,416 78,416
1) AE7IASES1ED 420-03 64,0009 X544m'= 34,816 34,816
2) x5 420-03 |109,0009 X 400m'= 43,600 43,600
13. A A YR BT} 45,000 0 45,000
7F sty 45,000 45,000
1) Abs5shal 45,000 45,000
7H A8 420—01 [45,000,000¢ x1%= 45,000 45,000
14. o] @o]Zo| A A AN 32,611 0 32,611
7 ey 32,611 32,611
1) gHlxFgw 620—04 32,611,0009 x 11L= 32,611 32,611
15. A}J=Z X% 379,186 105,155 484,341
7} & 379,186 105,155 484,341
1) atxsgw 420-03 64,0009 X 63m'= 4,032 4,032
2) AE7NATEHILEN 329,654 329,654
7H FEY 420-03 (109,000 X506m'= 55,154 55,154
W ZAYEXY 420-03 |61,0009 x4,500m'= 274,500 274,500

m
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(9] Q)

Abel A} A (B) o 2k (A) o AH(A+B)
3) AHdxSdw 420-03 109,000€ X 300m'= 32,700 32,700
4) 2158w 420-03 64,0009 X 200m'= 12,800 12,800
oSt 14,935 698,321 713,256
3 A 2] "} 14,200 272,205 286,405
ASHYZTHE 10,000 12,700 22,700
IEFAETR 10,000 12,700 22,700
1. AR SERAEAZ 10,000 0 10,000
7}, 1 G AkA| 2F 210-01 [10,000,000¢ X 13]= 10,000 10,000
ISPAFHA 1,200 3,230 4,430
NG TA A 1,200 3,230 4,430
1. S&Zoly$9 1,200 0 1,200
7}, s ola] e X d 240-01 600,0009 x 28 = 1,200 1,200
ISR} FU | ZEEH T 3,000 16,968 19,968
IS5AA 72 EHE 3,000 16,968 19,968
1. 712829 3,000 10,625 13,625
7}, 71 E DA B 210—09 1,000,000 x 33| = 3,000 3,000
o)) 2 7) e} 735 0 735
o u)u)| L7 et 735 0 735
AR EZS 735 0 735
1. B3k 735 0 735
7}, & 2] 71 0] ¢ n] Wk 710-02 735,000 x 18]= 735 735
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